Math 280, Taylor Polynomials/Taylor Series (11.10)
Definition:  If f can be differentiated n times at a, then define the 
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                   When a = 0, the resulting polynomial is called the Maclaurin polynomial.

Exercises:  

1. Find the 
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2. Find the 
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3. Find a third degree Taylor polynomial for 
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Definition:  If f has derivatives of all orders at x = a, then we define the Taylor Series for f about x = a as 
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                    When a = 0, the resulting series is called the Maclaurin series.

Exercises:  

1. Find the Maclaurin series for 
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.  The Maclaurin series for this function is called the binomial series.
2. Use a known Maclaurin series to obtain the Maclaurin series for the given function.  
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3. Use Maclaurin series to approximate the integral to three decimal-place accuracy.
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